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13 + 2 = 16+ 3 =3 x5+
60 + 8 = 45+ 6 =6 x 7 +
4 = 9 =
67/7- 8 =8 x 8 +
33 + 4 =
23+ 3 =3 x 7 +
38 =+ 6 =
= 2= +
o5 . 4 = 16 2=2 x7
28 - @ = 34+-6 =6 x5+
22 + b = 589 =9 x 6 +
3/ + 7 = 36:5=5x 7+
42 +- H =
29+ 4 =4 x 7 +
11 = 2 =
68+ 7 =7 x 9 +
54 - 8 =
30 - 4 = 17+ 2=2 x 8 +
29 =~ O = 26+ 5=5 x5+
22 = 3 = 53- 6 =6 x 8 +

B EZ
281 Copyright (C) NZAEDHDEREHUIL . All Rights Reserved.




HEODHZDHDE 4

2 i

13

60

74

33

38

25

28

22

37

42

11

54

30

29

22

15+ 2

34+ 6

58+ 9

36+ 5

17+ 2

26+ 5

53+ 6

5 +

7 +

8 +

7 +

7 +

5 +

6 +

7 +

7 +

9 +

8 +

5 +

8 +

Copyright (C) NZEDHDEBIEHEUIL . All Rights Reserved.



